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. What ;s +he entire radrcal form
ot -Bé 2)°

s =32 )
= JE3)3(2).
= Jc21)Q)

Op"!"'{oﬂ = "B )

2. What 1S the condition on the varioble

10 2\i‘7r\ for the radicand to be o
real number?

L 28, -dn =0 Qption=> "D

_.;( .'..—‘_.
Nz O

3. What is the Simplest form of +he sum
2% {6X + Sxlox, x=207?

L "_’)_x\r_(;‘x- &_SX_\TQ;,"E Opﬂ*\'oﬁ => "C

4. What s the product of V840 and \Iéj )
5:—:@, N Simples form 2

Ly NSHO X NGV
= s S2eOng —
= N@EIR)BXI)GEIE)IE N
= (2)E)3) XSy -

CP'\_\QQ =y 11 D i

= | \HC)_L}
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5. Determine any coot of +he equation,
A+T= J23-X,"Where x=23.

Ly (x+1)= J23-x% ) Option=> " R"
XA+t A+MHG = DB -X
W4 +X+494-23=0
X2+ 19%x+26=0
(x+2)(x+13) = O
X+2=0 or X+ 13=0
=2 ?(“1—&5

%(”FVGT\COUS
G. Suppcsse 5”\}% IS Written in Simplest
Wi )
form a8 avb. Where o i1s a real number

and b 1s an 1'r\+caer. What 1's +he
value of b >

B {5 Option=> '(C"
- '7\1}2' - P C
=30 N3, -42

7 N2 N2
= 5 NG,

7 2
= “i__(__o
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“I. Order +he followin &numbers From
least+ to Srﬁzcﬁ—es—P

S\K—d SJ_ N2, 6o
v v
Qs)“ ) "\RS) (), =N@r@)  Yico
= {@ay = 1(25)(&) = 1(8LQ)
=Qq = IS0 = \Jl6L
"-j [+]
order from least to greatres+s,

34T, SN6, 6o, diz
g. E){press as a radical in S\'mp\esﬂ'-&)rm\

(2F)Q5J8n) N0
=124
= ngng.
kHEQ\xz o
= VOB (M)
— 1242

= 12nV10 . (\+11F_)
1—12y2  (1+1242)
= 121’\41—0'1- 144 nV20
= (2]
= lzn\no + 1449 QRQI(S)
-2%38
= 2rw\0+ 233 NVS
— L -
= -12 010 — 288 N\S
2377
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13. You wish to rationalize the denominotor
in each expression. By what number will
Uou Y‘ﬁu\\-\-\'p\\/ cach €xpresSsion '3 Z)_q's—\—{{:\s
Jour answer.

L

——

a) 4., You Wwould multiply byo.

[ - -
b) :%2;‘) you wou ld mu\*h‘plﬁ btj \]8"3
YRR
d) 2, ou wou ld multply b G’F’I_)l
SRS 39Ny

SN
M. For diamonds of comparable quality,

The cost,C, in dollars ,1s related+o
The mass, m,in carats, by +he formula

m= | C ) C=20. What isthe costofa
3-carat diamond ?
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Ieyq tries Yo rC1+|onc;h{§: ‘i‘he denominator
In the expression 6\12 +V3 . Is Teya Correct?

1S.

423
_,L—FTXQ—\-' der\‘l-ncy and explain any €rrors
_ \SYLc: made -
TE\:;Q"’S Lolution
N2+ =

(S£“+fﬂ'/ﬁJ2_."\
\HN2-13 /\ 42+ ;
:zM4+a@+ﬂE”
32-3
= 40+9V6+ 3
Z2-3
= 43+ NG
- 29
* leya’s Solution IS correct )

A NPEIIGY




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5

